o'" Grade Review

ORDER OF OPERATIONS:

e SOVE36+HX3=_____

e SOVE(BO+8)X6-1=_____

e SONVEBO+8)X(6B-N=_____

o SOVE (2Q-18)+IH4+2+6=_____




CLASSIFYING QUADRILATERALS:

| aM a shape That has 4 sides. | have four 90- aegree
angles & 2 sets of paralel ines. | aso have Two sides That
are one length, and my other Two sides are a diffFerent
leng™h. What shape am [?

| aM A shape That has 6 sides. What shape am [?

lana ShCIp6 That has 3 ongles. |have NO porollel sides.
what shape am 1?

|have Four sides that are the same length. | have Two
different sets of pardlel ines. None of my angels are d0
degrees. What shape am [?

| M a shape That has / sides. What shope am [?

VOLUME:

6 in.

— - ——

2in. /

5in. 4 ft

what is The volume? what is The volume?




8 ft
1ft

2 ft

5 ft

2 ft

what is The volume? what is The volume?

CONVERSIONS:

 There are 3 feet inlyard How many feet arein o
yaras?

« AbOoX is 450 inches long. How long in yaras is The box?
(Note: | yord = 36 inches)

o A DISCUIT recipe requires 24 ounces of dough. There are lo
ounces in | pound. How Much dough would be needed TO
douole The recipe in pounas?




 Condice wonts To make a wood path that is 5 meters
long. She has 200 centimeters of wood. How many more
meters of wood does she need To make a path That is
long enough? (Note: Imeter =100 centimeters)

INTERPRETINC DATA:

« The graph shows Elizobeth's speed
duriﬂg A 55-MinUTe run. Elizabeth’s Run
During which Time inTervd !
dd Elizdbeth's speed increase
The mosT?
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. The graph below shows The daily
high Temperarures in a Town
fOr 6 days. ExXactly how many
days was The high High Temperatures
Temperature in This
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o BeTween which Two years dd EaT-A-LoT

Cered Company have the
greatest increase in
soles?

Eat-A-Lot Cereal Sold

101,000

100,750

100,500

100,250

Number of Boxes

100,000

e

4

T T T T
1996 1997 1998 1999 2000
Year

o Creatre achart from The datarepresented on The
groph below apout Charley's Bank Account:

Amount in Account
(dollars)

v




COORDINATE PLANE:

« What pont is located at {

what point is located at
@

2
(10, 2)? 11 :
10 4
« Whatis the orderedpar ¢ ;.
foriletterF? : F, )
6
whatis the orderedpair s
forletter J? 4 BB B 5
2 .I .H
1
0

X
12345678 9101112

what wilbe tThe 8™ ordered pair?
(3,30)6,27) @G 24) ...

EXPRESSIONS:

Create on expression £or adang 7 To anumber (n), Then
mutiplying by &

Credtre an expression shnowing “the quoTient of I and A
added To /7~

What symbaol does “spiiT INTo” mean?

Create an expression £or Toking The difference of 10
ond 3 then muttiply It by 2 before adding 3.




PATTERNS:

o LiﬂdSOV receives 30 for every A she has onher FGDOFT
card and $5 fFor every B. LiﬂdSOV made 2 Asond5B's
fOor each FGDOFT card She saved dl The MOoNEY she
received. How much MONEY dd LiﬂdSCl\/ have saved at
the end of The Third grading period?

o WhenMarthaboked 96 muffing, | Pies | Muffins
how mMany pies did 2 24
she bcke? y .

6 72
? 96

« Carolne folowed a pattern £or Two numbers. For the
first pattern, she started at O Then added 2. For the
second pattern, Caroine started at 32 and suptracted H.
Wwhat was The ath number Carolne £ound £or each
pattern?

o What are The next 4 Terms in The pattern? Ruie: X H

2




DECIMALS:

o SOVE /. /0+3H0=_____

e SOVEI3X/O=_____
e SOVEIO8X25=_____

e SOVEJ 8+3=_____




« ROund TO The nearesT Tenth: 0.34/9=_____

« ROUNd TO The nearest hundredth: 0./553 = _____

« ROUNd TO The nearesT whole number: 3.268 = _____
o COmMpare:0.205____0.2

. Compare 103 ____0.03

o COmpare: 0.040 ____0.05

FRACTIONS:

Sove: = + = Solve 23412 Solve 4= 42
10 10 8 8 9 6

5
Sove 2—2 Sove 2 2 — 1> Sove 34_1
6 6 12 12 5 4




3 5 6 3 3 1
Solve: === Sove: — == Sove = X =
5 9 8 ' 4 42 73

Solve:

w N

X

| Ul

Solve: § X 2

AfFTer basketbal practice, 8 piayers equaly shared 3
large botTTies of watrer. What f£raction of apboTTie dd
each player get?

Three pizzas are shared equaly among 12 people. What
fraction of apizza wil each person get?

Mr. Edwards bought a 50 - pound bag of Flour £or his
bokery. It was equally divided among 6 days. How
mMuch Flour was used per day?




